Rotatable Panel
Coupling

( Pano Dik Girig Modulu )

&

ARMENDUS

SUPPORT ARM & ENCLOSURE SYSTEMS.

L, TS EN 50085-1
RKIYE *

7 TS EN IEC 61439-1

9001:2015

WARRANTY

ARM130.320

Sari renkli banti gikariniz. Yapiskan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)

www.armendus.com

Kutu icerigi
Product Box Content

ox ([ M8 x40
o QI vex2s
4x O J8.4
1x ’ M6 x 25
2x

i\
2 Profili ok yoninde igeri dogru yerlestiriniz.

( Insert the profile into the coupling as shown in the picture

below. )




ic hareketli parcayi gérselde ki konuma getirin. 1 M8x40 Profil civatalarini montajlayiniz.

(Rotate the inner moving part to the position as shown in the
picture)

(Tighten the 2x M8X40 profile bolts as shown in the
picture)

Profil baglant delikleri. J8.4 (x4)
(Profile connection holes)
M8 x40 (x4)
i¢ hareketli parcayi gérseldeki konuma getirin. E M8x40 Profil civatalarini montajlayiniz.
(Rotate the inner moving part fo the position as shown in the (Tighten the remain 2x M8X40 profile bolts as shown in

picture) the picture)

J8.4 (x4)

Profil baglanti delikleri.
(Profile connection holes)
M8 x40 (x4)

www.armendus.com




7 Plastik tapalan yuvalara takiniz.

(Insert the plastic plugs into the slots)

8 M8X25 Setskur'u takiniz.
(Assemble the M8x25 set screw)

\- M8 x 25 (x1)

Setskur, modilin dénis acisinin sinirlandiril-
masinda kullanilir.

(Set screw is used to limit the rotation angle of
the module)

Dikkat:

Modilin sag sol dénislerini M8X25 civata ile
sinirlandirabilirsiniz. ModUl Gzerinde 4 adet delik
bulunmaktadir. D6nUs sinirlarini istege bagh olarak 1
adet civata ile de yapabilirsiniz.

Aftention:

You can limit the right-left rotations of the module with
M8X25 bolts. There are four holes on the module. You can
optionally set the rotation limits with one bolts.

D6nUs Sinirlama Duvan
(Rotation limit wall)

www.armendus.com

Sari renkli banti ¢ikariniz. Yapiskan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)




1 1 Sustali kolu yuvasina takiniz. 1 2 Modiilii pano lizerine yerlestiriniz.
Place the switch lever( M6x25) into its sloft. (Place the module on panel)
M8x30 (x4)Civatalar kutu i¢erigine dahil degildir.

Sustali kol, modUlin dénis sertliginin ayarlanmasin-

da kullanihir. (M8x30 (x4) Bolts are not included int the box)

(The switch lever is used fo adjust the rotational stiffness of
the module)

M6x 25 (x1)

J8.4 (x4)
M8 x 30 (x4)

Pano Uzerine agilmasi gereken civata baglanti
delikleri ve kablo gegis delik dl¢ileri.
(Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

Saghikh bir montaj i¢cin modil ve panelin
baglantilarini kontrol ediniz.
(Check the connections of the module and the panel for a
perfect assembly)

< 58.00 . o

58.00

www.armendus.com




